EXTEM CT Change (s)

T2-T1 T3-T1 T4-T1 T5-T1
n1l=25, n2=28 nl=24, n2=26 nl=22, n2=25 nl=23, n2=25
50 - ] ,,
i R =] o Bl ——
50— - : —
-100 —
=150 —
-200 —
p = 0.0509 p = 0.0422 p = 0.2404 p = 0.0279
6.84 (0 to 12) 8 (0 to 16) 5 (-3 to 16) 9 (1 to 16)




EXTEM MCF Change (mm)

T2-T1 T3-T1 T4-T1 T5-T1
nl1=25, n2=28 nl=24, n2=26 nl=22, n2=25 nl=23, n2=25
20 ] o : o
10 - | | H L
oI I e N — B L ] .-
-10 — ™ o
p = 0.0031 p=0.2195 p = 0.0293 p = 0.2144
-5 (-8 to -2) ~2 (-6 t0 1) -4 (-7 10 0) ~3(-7t0 2)




FIBTEM MCF Change (mm)

T2-T1 T3-T1 T4-T1 T5-T1
n1=25, n2=28 nl=24, n2=26 n1=23, n2=25 nl1=23, n2=25
30
20 —
104 o o E : Q
B f :
0—--5---n ------ oot = e = - —— - -
_10 —
p < 0.0001 p = 0.0525 p = 0.1387 p=0.242
-5 (-7 to -3) -3 (-6 10 0) -2 (-5t0 1) -2 (-51t0 1)




aPTT (s)

T1 T2 T3 T4 T5 T6 T7
n1=25, n2=26 n1=25, n2=28 nl=24, n2=25 nl=24, n2=24 nl=24, n2=25 n1=22, n2=25 n1=19, n2=20

200 — :

150 — :

100 —

50 ] : o - _:_ : o E E m ° _E_ ]
—_——=— e = E B =5 =H ===
p = 0.4496 p = 0.8792 p = 0.3465 p =0.9753 p = 0.9362 p = 0.9915 p=0.5168

-1 (-3 t0 1.4) 0 (-4t0 3) -2(-10t01.4) 0 (-61t05) 0(-7t0 4) 0 (-5 to 4.4) -1 (-5102)




T1 T2 T3 T4 T5 T6 T7
nl=25, n2=25 nl=25, n2=27 nl=24, n2=25 nl=24, n2=24 nl=23, n2=25 nl=22, n2=25 nl=19, n2=18
120 — X -
? - —_ —_ - —_
g 1004 T T T o I - o
c — il T I L .
S 80 — : | ' ! !
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o I -
— 1 1 \ ! 1 ! !
[ | 1 | ! | 1 ! |
< . L D L L L
R
20 — —
p = 0.2898 p = 0.3548 p=0.1834 p = 0.2609 p =0.2231 p = 0.6543 p=0.3778
4 (-31t0 11) 4 (-6 0 15) 9(-5t020) 5.65(-4t018) 6(-4t018)  3(-10to14)  6(-7to 19)




Base excess (mmol/L)

15

10

T1 T2 T3 T4 T5 T6 T7
nl=24, n2=22 n1=25, n2=27 nl=24, n2=25 nl=24, n2=25 n1l=21, n2=25 nl=21, n2=25 nl=17, n2=17

—_ : _:_ [ ] E o _T _:_ _

. I T | T _ : ! . !

1 I_l

i ! , \  — : — .

p =0.296 p=0.2676 p = 0.406 p = 0.9203 p = 0.9209 p = 0.2558 p = 0.9313
-0.8(-2.2t00.4) -0.6 (-2t00.7) 0.3 (-0.6t01.2) -0.04 (-1t00.9) 0 (-1to1) 0.7 (-0.6t0 2.1) -0.1 (-1.3t0 1.1)



APTEM CFT (s)

T1 T2 T3 T4 T5 T6 T7
nl=24, n2=27 nl=24, n2=26 n1=22, n2=25 n1=23, n2=22 n1=22, n2=23 n1=22, n2=24 n1=19, n2=17
700 —
600 —
500 —
400 ’
300 — . .
200 — ° - ° o o 8 B
--— _:_ ! _':_ - _T_ —_ : —_ 1 ° o
i - ' = = - = :
w- B8 o BHm BHEH BEE =& =
p =0.2654 p = 0.0023 p=0.1757 p =0.2375 p = 0.2075 p=0.1796 p=0.9116
10(-11t023) 30(13t048) 12(-8t032) 15(-7t034) 15(-8t038) 10.29 (-4t023) 1 (-14to 13)




EXTEM CFT (s)

T1 T2 T3 T4 T5 T6 T7
nl=25, n2=28 nl=25, n2=28 nl=24, n2=26 nl=22, n2=25 nl=23, n2=25 nl1=23, n2=25 nl1=20, n2=19

600 —

500 —

400 — o

300 —

200 : T S . T o

w1 B ?E =5 TB Tt éé — =
p = 0.3449 p = 0.0045 p =0.0788 p =0.092 p =0.1698 p = 0.4892 p=0.822
8(-12t023) 30 (11to46) 16.48(-2t032) 17.03 (-4t039) 15(-10t038) 4 (-9to 17) 1 (-9 to 13)




INTEM CFT (s)

T1 T2 T3 T4 T5 T6 T7

n1=25, n2=28 n1=25, n2=28 n1=24, n2=26 n1=23, n2=25 n1=23, n2=25 n1=23, n2=25 n1=20, n2=19
300 ‘
250 — :
200 . "o
o ° _:_ ° : ° : ]
150 4 . e | B L .,
100 4 | | L .
e I
50 4 -~ - ~ 1 -~ = Lo SR L= e

p =0.7148 p = 0.0057 p = 0.0532 p = 0.4389 p = 0.3637 p = 0.1604 p = 0.5835
-2.34 (-20t0 14) 23 (6 to 37) 14 (0 to 34) 9(-11t029) 10(-15t033) 8 (-5t021) 4 (-6 to 11)



APTEM CT (s)
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T1 T2 T3 T4 T5 T6 T7
nl=24, n2=27 nl=24, n2=26 nl=22, n2=25 nl=23, n2=22 nl=22,n2=23 nl=22, n2=24 n1=19, n2=17
! - 8 ° _:_ —:—

' | X , l 1 l ' 1 . —_
=5 =25 = — —
p=0422 p=0.2851 p=0.7651 p=0.8291 p=0.6825 p=0.361 p = 0.0959
~4(-12105) 3.64(-3t09) 1 (-51t06) 1(-5108) 1 (=410 8) 3 (-7 10 8) 8 (-16 10 2)




EXTEM CT (s)

T1 T2 T3 T4 T5 T6 T7
nl=25, n2=28 n1=25, n2=28 nl=24, n2=26 nl=22, n2=25 n1=23, n2=25 n1=23, n2=25 n1=20, n2=19
250 —
200 —
150 —
100 - ¢ . . 3
_:_ ° ° - ° - s -+ -
T == ' e = = = =
0] HEE S=Eem B B2 =8 2B BF
p =0.031 p = 0.9858 p = 0.5996 p=1 p=1 p = 0.5984 p =0.1551
-9 (-16 to -1) 0 (-5 to 5) 1(-5t07) 0(-51t07) 0(-61t07) -2 (-9 t0 5) -5 (-12t0 2)




INTEM CT (s)

T1 T2 T3 T4 T5 T6 T7
nl=25, n2=28 n1=25, n2=28 nl=24, n2=26 n1=23, n2=25 n1=23, n2=25 n1=23, n2=25 n1=20, n2=19
500 —
400 —
300 — )
200 -{ -~ g o L T T T
i ol — = = == — — ==
| ] I ] | E— | ITI - 1 ! — E .
] T 1 ! : o - - e —
100 ] _(:_ - o -4 _':_ o o
p = 0.6558 p = 0.6367 p = 0.8082 p = 0.5563 p = 0.8607 p=0.9753 p=0.1555
-3.07 (-14t08) -3(-161010) -2(-21t013) 4(-10t017) -2(-18t012) 0(-14t013) -11(-26t0 4)




Fibrinogen (mg/dI)

1000 —

800 —

600 —

400 —

200 —

T1 T2 T3 T4 T5 T6 T7
nl=25, n2=26 nl=25, n2=28 nl=24, n2=25 nl=24, n2=24 nl=24, n2=25 nl=22, n2=25 nl1=19, n2=20
= ' ' - F -

8 : ] : _:_ : 1 _E_
p = 0.6854 p =0.0014 p=0.1235 p = 0.1245 p = 0.2937 p = 0.0985 p = 0.8441

-6 (-38

to 35)

-83 (-134 to —42) —44 (-83 to 12)

-33(-73t012) —22 (=65 to 22)

-43 (<97 to 11) -8.63 (-108 to 71)



FXIIl (%)
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40 —

T1 T2 T3 T4 T5 T6 T7
nl=21, n2=26 nl1=20, n2=27 n1=19, n2=24 n1=20, n2=24 nl1=19, n2=24 n1=19, n2=24 nl=16, n2=17
p =0.9312 p=0.7714 p = 0.8447 p =0.6713 p = 0.6508 p=0.7877 p=1
0(-11to16) -2(-18t013) 1(-17t022) 3.19(-13t021) 3(-13t019) 1(-16t014) -1 (-16to 19)




APTEM L60 (%)

100 —
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85 —

T1 T2 T3 T4 T5 T6 T7
nl=24, n2=25 nl=22, n2=24 nl=22, n2=22 nl=21, n2=20 nl=21, n2=22 nl=22, n2=24 nl=18, n2=16
p = 0.4325 p = 0.8508 p =0.9154 p=0.7331 p = 0.9903 p = 0.4257 p =0.0614
1(-1to 3) 0 (-2 to 2) 0 (-2 to 2) 0 (-3 to 3) 0 (-3 to 3) -1(-3t02) -2 (-510 0)
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p = 0.0187
-4 (-6 to -1)

p =0.4741
-1 (-41t02)

p = 0.5433
0 (-1 to 3)

p = 0.8404
0 (-2 to 3)

p = 0.6838
1(-21to 3)
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INTEM L60 (%)

100 —
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85 —

T1 T2 T3 T4 T5 T6 T7
nl=24, n2=27 nl=23, n2=25 nl=23, n2=22 nl=21, n2=22 nl=22, n2=24 nl1l=23, n2=25 nl1l=18, n2=17
p = 0.506 p = 0.3561 p =0.8818 p =0.7691 p = 0.9208 p = 0.5897 p =0.1038
~1(-3to 1) 1(-1to 3) 0 (-2 to 2) 0 (-3 to 2) 0 (-3 to 2) -1(-3t02) -3 (-5100)




APTEM MCF (mm)

80 —

70 —

60 —

50

40

30

T1 T2 T3 T4 T5 T6 T7
nl=24, n2=27 nl=24, n2=26 nl=22, n2=25 nl=23, n2=22 nl=22, n2=23 nl=22, n2=24 nl=19, n2=17
p = 0.8351 p = 0.0151 p=0.1817 p =0.1832 p =0.2319 p = 0.0869 p = 0.8364
0 (-4 to 3) -5 (-9 to -1) -3(-7to 1) ~3(-7to 1) -3(-6t02) -2.75(-61t00)  1(-4t05)




T1 T2 T3 T4 T5 T6 T7

EXTEM MCF (mm)

nl=25, n2=28 nl=25, n2=28 nl=24, n2=26 nl=22, n2=25 nl=23, n2=25 nl1l=23, n2=25 n1=20, n2=19
p =0.9218 p = 0.0102 p=0.1342 p = 0.0573 p =0.0671 p=0.2178 p = 0.8768

0 (-4 to 4) -5 (-9 to -2) -3(-7to 1) ~4 (-7 10 0) -4 (-7100) -2 (-5t0 1) 0 (-4 to 3)




FIBTEM MCF (mm)

50 —

40 —

30

20

10

T1 T2 T3 T4 T5 T6 T7
nl=25, n2=28 nl=25, n2=28 nl=24, n2=26 nl=23, n2=25 nl=23, n2=25 nl1l=23, n2=25 n1=20, n2=19
' | FE L. —1 = i
p=0.7817 p = 0.0026 p = 0.0851 p=0.1812 p =0.102 p=0.7328 p = 0.5084
0 (-3 to 2) -4 (-7 to -2) -3 (-6100) -2 (-5t0 1) -2 (-5t0 1) -1 (-41t02) -2 (-810 3)




INTEM MCF (mm)

80 —

70 —

60 —

50

40 —

T1 T2 T3 T4 T5 T6 T7
nl=25, n2=28 nl=25, n2=28 nl=24, n2=26 nl=23, n2=25 nl=23, n2=25 nl1l=23, n2=25 n1=20, n2=19
p = 0.6169 p = 0.0085 p =0.0234 p=0.1115 p = 0.1695 p = 0.1259 p = 0.7249
1 (-3 to 5) -6(-9t0-2) -4 (-8to-1) -3(-8to 1) ~3(-7102) -3(-6t01) -1 (-51t0 3)




Blood pH

T1 T2 T3 T4 T5 T6 T7

76 nl=24, n2=22 nl1=25, n2=27 nl=24, n2=26 nl=24, n2=25 n1=23, n2=25 nl=22, n2=25 nl1=19, n2=18
5 : T - T -
74 - T H T e [y : —
7.3 - : + 5 - i + -
7.1 - - D

p =0.2702 p = 0.2864 p = 0.4305 p = 0.3069 p = 0.8442 p = 0.4037 p=0.4106

0.03 (~0.02 to 0.08)02 (-0.01 to 0.05)01 (~0.02 to 0.08)02 (-0.02 to 0.06)0 (-0.03 to 0.03)0.01 (-0.01 to 0.049.01 (-0.04 to 0.02)
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o 40 —
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T1 T2 T5 T6 T7
nl=25, n2=24 nl=25, n2=26 nl=24, n2=23 nl=24, n2=22 nl=24, n2=23 nl=22, n2=25 nl1=19, n2=20
‘ _ |
p =0.4711 p = 0.9925 p = 0.3545 p = 0.4882 p=0.7254 p =0.3426 p=1
3 (-6 to 17) 0 (-11to 12) 7 (-7 to 18) 35(-6t015) 2 (-8to11) 5 (7 to 20) 0 (-11 to 10)




VWF antigen (%)

T1 T2 T3 T4 T5 T6 T7
nl1=21, n2=24 n1=20, n2=25 n1=19, n2=23 n1=20, n2=22 n1=19, n2=23 n1=18, n2=21 n1=16, n2=16

3004 = T T T T T T T T T T T

250 ' L - -

200 - :

so+ 1L B e R A

100 : - L

50
p=0.8 p=0.7317 p = 0.8192 p = 0.5794 p=0.6766 p=0.7673 p = 0.0367

0(-32t035) -5(-43t027) 0(-51t042) 11(-30to51) 9(-23t048) -5.79(-32t029) -40 (-81 to 0)




VWF Ristocetin Cofactor (%)

T1 T2 T3 T4 T5 6 T7

n1=21, n2=24 n1=20, n2=25 n1=19, n2=23 n1=20, n2=22 n1=18, n2=22 n1=18, n2=21 n1=16, n2=16
300 T = TT T T T T T T
200 & L . E
1504 || - - i IR :
100 — N L :

p = 0.9255 p = 0.8094 p = 0.9797 p = 0.6502 p = 0.9026 p = 0.5633 p = 0.0999
0 (=17 to 38) 0 (-48 to 31) 0(-39t047) 9.67(-26t057) 2(-33t039) -10(-41t027) -32(-80to0)




